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Circle Geometry Test

Mathematics

General Instructions
¢ Wiite using black or blue pen .

+* Caleulators may NOT be used.

* DMARKS MAY NOT BE AWARDED
FOR MESSY OR BADLY
ARRANGED WORK.

s Attempt all questions,

Examiner: A Ward

Year [0 Test Circle Geometry

Quesfion.

[ 1. What is the shaded region called?

A

2. What is the element of a eircle called that is
shown as LM

=%

3. If Arc PR= Arc QR which of the following
are true?

A, PR=0R

B. LOPR = ZPOR

4, ff OM =ON which of the following are true?
A, UV=VW
B. MV=NV
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Year 10 Test Circle Geomelry

5. In the following diagram find x and y.

6. What is the value of x ? -

Year 10 Test Circle Goamnetry

9. What is the value of y?

7. The line LN touches the inner circle at M
Which statement is false?

A ILM=0ON

B LM =MN

C. LP is parallel to MO

D L MLP = 50°

————— e e o

11, F, G, H and X are any 4 points on the circle.
Then AFEK and A GEH must be:

A conéruént

B equilateral
C, isosceles
b

similar

g

e
. -

:'11_."

£ ONM?
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R L .
12.If PT aﬂ(? 3 are tangents to the circle, of

what magnitude is x?
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" gear 10 Test Circls Geometry

13. Given the following ciicle, v;rhich statement

is false?

1A ZLMG = 80°

1. ~oML=40°

1o ZoMG=407
D

o
-

| 16 Ifl';R is & tangent to the circle at point Q

thei viliat is the magnitude of n?

- I,

—
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Year 10 Test Circle Geometry

17. If Are UX = 7em find the circumference of
the circle,

18. Find the value of ihe Pbronumerals, reasons .

are not necessary but working must be shown.

19. O is the centre of the circle and BA is the

tangent. Find x giving reasons, |
e

s
o
.8 -

s

g,\\ o
- ‘ s ) D
0 z
f ‘ g - i. | |
—— "Z"/ %’E:&

A B

e = — ————
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Year 10 Test Circls Geometry

20.ABCD is a oyclic quadrilateral FAE s
tangent at A. BD is parallel to FE., 8¢ J| AD
Z DAE=50" . Giving reasors find,

A, Z/BAFand

B.  /BDC

-

21. These two cilclé intersect at A and B. AP
produced cuts the larger circfe at Q. QB produced
cuts the smaller circle af R. TQ is a fangent to-the
larger circle. Prove that RP is parallel fo TQ giviﬂg

reasons.
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Year 10 Test Cirele Geometry

Question.

Ausyer.

1. What is the shaded region catled?

Mines SEJW\!

Year 10 Test Circie Geometry

| 5. In the following diagram find % and 3.

YA A

2. What is the element of a cirele called that is
shown as TM

Choah S are

' 3.Tf Arc PR= Arc QR which of (he following
are true?

A PR=QR

B, ZOPR=/POR

)
b

20

A 4F

4 If OM = ON which of the following are true?
A Uv=vw
B. MV =NV
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7. The line LN touches the inner circle at Ns

_| Which statement is false?

A, LM=0N
B LM =MN
C. LP is parallel to MO
D LMLP= 9(0°
. P TN
X
N

L ONM?

oK = % o&

T LRAME ALRS
SL N do-to

L ONMT SO

-




Year [0 Test Circle Georoetry

9, What is the value of y?

Z por™ nwoo

z_?&ﬁ.“—ss—b_\/

Then 4 FEK and A GEH must be:
A, coné'ment

B equilateral
C. isosceles
b

similar

11.F, G, H and X are any 4 points on the circle.

T Y

f'agc 3 u.f 7

e S

1713. Given the following circle, which statement

> | is false?

.ip. ~Z1L0G=380"

ear 10 Test Circle Geometry

A LLMG=380"
B, LOML=40"
c.  LOMG=40°

A

1 16. j[fPR is a tangent to the circle at point Q

thexi What is the magnitude of n?
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Year 10 Test Cirefe Geometry

|_1_7. If Arc UX = 7em find the circumference of

the circle,

Fdd “!-hn‘\v{lf

gm—ﬁﬁ;_
18. Find the value of the Ppronumerals, reasons

are not necessary but working must be shown,

PR
o

SRR AT

gd\

b2

19. Ois the centre of the cirele and BA is 1ha

langend. Find x giving reasons. L.

.~ 8 - i "’\

L BAD =p°

LAoBf'eTO"

DPapa § AF“

- 4:7
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8
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ez,
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(« racdius 04 mvfs

A bgand -
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]

B, «BDC

Year 10 Test Circle Gevmedry

DFABCD is a oyclic quadrilateral. FAR is a
tangent at A. BD is paalle] to FE.

£ DAE =50" - Giving reasods find;

A, v ZBAF and

12 .
‘ Conslusel BH
a) L AR D ':Sb° (L P aéfe,ﬂgzé 5?,‘;«,{}

LBBA =) BAR (i, {cld / s emffa)
S L BAF =spe :

é) £ /5/:“0*" BO° C & seen SLT?(J-
ya r—A—E)

e fgélp ”—/OO“’(aﬁ@;/c ,_L,W
ﬂ -

C(jc t';c ?m“ng

o ”%

L LCBOY) épg=ae (L s Q
L CBD = By fgc“ AD
Sl Bpe =

—_—

S A

21. These two circle intersect at A aud_TﬁP—- o
produced culs the larger circle at Q. QB produced
cuts the smaller circle at R. TQ is a tangent to-the
larger circle. Prove that RP is pasatlel to TQ giving

Ireasons.

lel

A TQK— :‘x,a

li B'{i-Q - (Z,J- o‘..z[’(ﬁ.Hze(
R ) ﬁfﬁ il \/
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S

- L PRG= LTQpr (Lot ezc“/ /
L RP LMOB
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el
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